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T = ‘/600 Seconds

freq = 100;

phase = pi/3;

mag = 2;

fs = 500;

Ts = 1/fs; MS
k =1;

num_points = 200;
num_samples = 11;
step = 2/ (freg*num points);

t = 0:step:2*(1/freq);
n = 0:num_samples-1;

b
I

mag*cos (2*pil*treg*t + phase);
y = mag*cos (2*pi* (freqg+k*fs)*t + phase);

| | £ = lbw
AL\ll+L) = MAgTCOS{(Z™pl*Irreqg*n~*ls + phase); r -
y2 (n+l)

plot simulated

x2 and y2 will have
the same values
due to Aliasing

mag*cos (2*pi* (freg+k*fs) *n*Ts + phase) ; F‘! = oD + So o
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C:\Users\Harman\Documents\Data\CENG...\r ot simulated.m

subplot(2,1,1);
plot(t, x, -, t
my title = sprintf(
title(my title);
xlabel (

ylabel ( )

subplot(2,1,2);
plot(n,x2, , N,y
my title = sprintf(
title(my title);
xlabel ( )
ylabel ( )i

Original signals

y2 - 600 Hz aliased
to 100 Hz.
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